Challenge #10

Pascal and Agnesi are ready to purchase a home. They have a
choice of loan options. The home they want is $150,000. Which
option should they take?

s+ 10% down payment, 3.3% interest (compounded monthly)
on a 15-year loan

s+ 15% down payment, 3.9% interest (compounded monthly)
on a 30-year loan



Challenge #10 Solution

Pascal and Agnesi are ready to purchase a home. They have a
choice of loan options. The home they want is $150,000. Which

option should they take?

@ % 10% down payment, 3.3% interest (compounded monthly)

on a 15-year loan

@ % 15% down payment, 3.9% interest (compounded monthly)

on a 30-year loan
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